Algebra l}
Surd Equations SOLUTIONS

1. x=11
2. x =28
3.z=1

4. x=4 =0
5. =9 (S%)
6. r=4 =0
7.x2=9 z=1
8. =4 (5%
9. z=3
10. x =2
11. 2 =4 =0
12. 2=6 x=2 (5%

Question 5
V2r—14=+z -1
(V2r —14)* = (Vo - 1)°
20 — 14 = Va(Ve - 1) = 1(Vz - 1)
20 —ld=2—Vr—xr+1
20 — 14 =2 —-2/r+1
20 —x—14—1=2Vx
(z —15)* = (2v/z)”
2 — 302 + 225 = 4z
x? — 34z 4+ 225 =0
(x—=9)(x—25)=0

r=9 x=25
Check each solution:
VI —Ti= Ji—1
r=9 r =25
V209) —14=v9-1 V2(25) — 14 =v25— 1
2=2 6#4
x = 9 is a solution x = 25 is not a solution
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Question 8

Vil +1)=+vr+3
(V5x +5)% = (v + 3)°

5z +5=r(vVr+3)+ 3z +3)
54+ 5=x+3Vr+3v/x+9
52 +5=1x+6yx+9

5t —x+5—9=06yx

(4z — 4)* = (6v/x)?
1622 — 322 + 16 = 36

1622 — 68z +16 =0

(+4)

42 —1Tr+4=0
(dz —1)(z—4)=0

1

T = r=4
Check each solution:
Vo2 +5=+/x+3
- - V5(4) +5=V4+3
5(Z)+5: Z+3 5=5
5 7
273
z = 4 is a solution
T = }l is not a solution
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Question 12

Viz+1-3=vz -2
(Vaz +1-3)* = (Vo —2)
Viz +1(VAr +1-3) - 3(Vdr +1-3) =2 — 2
dr+1-3Vizr +1-3Vdz +1+9=a—2
dr+10—6Vidr +1 =12 —2
Az — x4+ 1042 =64z + 1
(37 +12)? = (6v/4z + 1)?
92? + 72z + 144 = 36(4x + 1)
922 4 T2x 4 144 = 1442 + 36
922 — 722 +108 =0 (=9)
=8 +12=0
(x—=6)(z—2)=0

r=6 x=2
Check each solution:
VITFT-3=vi—2
=206 T =2
406)+1—-3=+/(6) —2 42)+1-3=+/(2) -2
2=2 0=0
x = 6 is a solution x = 2 is a solution
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